Simplifying Expressions (D)

Simplify each expression.

A 4+xz4+44+642 6. -l —cv+v—v+3
.uv+1+v+2uv—1 7. 24+ 1464+27—4z

S Vy+3v—=5-—y+vy 8. 2cv—14+2cv+3c®+2¢v
Az+54+1—yz+1 9. dex+cx—cx—cx+cx
—143+a*+1—a 10, 4u+2y" +4u’ + 4y +u®
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Simplifying Expressions (D) Answers

Simplify each expression.

A +xz4+44+6+2 6. —1—cv+v—v+3
=xz+z+11 = —cv+2
uv+1+v+2uv—1 7. 24+ 14+6+27—4z
=3uv+v =7 —2z+7

vy +3v—5—y+vy 8. 2cv — 1 +2¢cv+3c®+2¢cv
=2vy+3v—y—>5 = 6cv+43ct—1

Az4+S5+1—yz+1 9. 4ex+cx —cex—cx+cx
= —yz+4z+7 = 4cx
1434+a*+1-a 10. 4u+2y* +4u” + 4y +u?
—a*—a+3 =292+ 5u® +du+4y
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